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1. RBEE
e 30,469 26,433 4,036
EE 1,598,831 1,863,713 A 264,882
RE 0O 52,820 197,244 A 144,424
e - e - IREEEH 1,682,120 2,087,390 A 405,270
XKEZBRIZREESE 1,440,000 1,600,000 A 160,000
HIZ=EEE 1,440,000 1,600,000 A 160,000
RBEESET 3,122,120 3,687,390 A 565,270
2 EEEE
(1) EXEE
EXRUHE 10,000,000 12,000,000 A 2,000,000
(2) ZOMOEEEE
& 340,000 340,000 0
BIE&EESE 10,340,000 12,340,000 A 2,000,000
BESE 13,462,120 16,027,390 A 2,565,270
I BEOH
1. RBIEME
XKEZBRIZRE 180,000 370,000 A 190,000
Pk =LAy 180,000 370,000 A 190,000
2. BEEE
REKEREBHIZRE 1,260,000 1,230,000 30,000
BEE &R 1,260,000 1,230,000 30,000
=l 1,440,000 1,600,000 A 160,000
Il IERREAEEDER
1. {EEIERREAE
0 0 0
2. —RRIERBREAE
IERBIE S E 12,022,120 14,427,390 A 2,405,270
BERVEKMESS 13,462,120 16,027,390 A 2,565,270







